[mportant Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Max. Marks: 80

one full question from each module.

Note: Answer any FIVE full questions, choosi
Module 1
1 a. Find ‘I,” shown in the circuit in Fig' QI(a) using mesh analysis., (08 Marks)

Fzg Ql(a)

(08 Marks)

Fig Q2(a) (06 Marks)
UV- 50Q,L=02H, C= 10;,LF with an applied voltage of

01rcu1t ) (05 Marks)
C. Find the current | in the 01rcu1t show in Fig Q2(c). Using star delta transformation.(05 Marks)

Fig Q2(c)
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Module-2
3 a. State maximum power transfer theorem. ! (03 Marks)
b. For the circuit shown in Fig Q3(b). Find current ‘I’ usmg super p051t10n theorem. (05 Marks)

C.  Find Vy in the circuit shown in Fig Q3(c) and hence. verlfy rec1pr001ty theorem.

(08 Marks)
4 a.
) (06 Marks)
b. FindI usin ;
(04 Marks)

c. Find the value of iy, in the Fig Q4(c) usmg N@rton’ s theorem.

- & 37 CMRIT LIBRARY
FigQ4(C)  BANGALORE-568037 (06 Marks)
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Moduile-3
in Fig Q5(a). the' switch ‘S’ removed from a to b at t = 0.

o steady state is achieved when switch is at a. (08 Marks)

b. In the 01rcu1t; hown in Fig Q VS(b) switch K is opened at t = 0. Find the value of

(08 Marks)

v loo "= \pp

Fig Q5(b)
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OR
a. In the circuit shown Fig Q6(a) determine the complefe solutlon of current when switch is
closed att = 0. (08 Marks)
b. In the circuit sown in Fig Q6(b). Determine V, (O) V., (0") at t = 0. Steady state is reached
with switch open. - (08 Marks)

JH
| oo 603603-%

¢ Module-4
a. Use initial and final alue theorem to find F(0) and F(a)

F(s) = 3S * 75, . 5 (04 Marks)
s(s” +3s”° +4s
b. State and prove mxtlal value theorem and.fi nal value theorem. (06 Marks)
¢. Obtain the Laplace transform of the function shown in Fig Q7(c) (06 Marks)
a. Derive the Laplace transform ofa perlodlc 31gnal (08 Marks)
b. Obtain the Laplace transform of the given wave form in Flg Q8(b). (08 Marks)
,co() )
P k="

S

Fig“‘*‘@s(b) CMRIT LIBRARY
BANGALORE - 566 037
7 4 Module—S

a. A three phase, 400V 4 wire system has a star connected load with Z, = (10 + j0)Q2,
Zy=(135 +J10)Q Z;=(0+ JS)Q Find the line currents and current through neutral wire.
s N ; (06 Marks)
b. Define Z and'Y parameters. (04 Marks)
c¢. Find z parameters for the Circuit in Fig Q9(c).

(06 Marks)
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OR 4
10 a. Find V(t) in the circuit shown in Fig Q10(a) assuming zero initial condition. (08 Marks)

Fig Q10(a)
-C circuit, driving point admittance, is as shown in Fig
' (08 Marks)

k ok ok 3k ok
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